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R2.2. 4r 9 |BIEEEEEREA AR (2/6~2/2T7) 1,600 sol 800 0 0 0 800
R2.2.4| 10 |#E&#)—24% (2A%5) 22,5721  s0Q 11,286 0 0 11,286 0
R2.2.5) 11 R aam (oA 2 Y RIRAUI tosso| S| 85275 0 0 0 0
R2.2.10| 12 | & —% v Mg 1,103 50' 551 0 0 551 0
R2. 2.1/0 13 |EEEER s 8,438 25 2,109 0 0 2,109 n‘
Rz.2.18| 14 |EBH BERTL VYRR (2A5) 10,265 50 5,132 0 0 5,132 0
EHEE BAML (FHN2F1ATE~2
R22.18) 15 |gppag 5,408 50 2,702 0 0 0 0
Ro.2.25| 15 |BPEEEVMBIRSAANI (BHGE1, 000 X ga.000] so| 41,500 0 0 ol  41.500
2 83E:R) |
R2.2.25) 17 |BUHEARMERBAAGER (#E5+30EH) 190, 000 5o| 95, oco) 0 0 o] o5 |
i PadBER (REINHMBARY
R.225| 18 |k BRI 40 H ) 19, 806 zsl 4,951 0 0 4,951 oI
R2.2.25L 19 |HiffL (ABAHEZE) 1,887 1oo| 1,887 0 1,887 0 ol
R2.2.26( 20 [HRA{E (MFHM2AS) 3,549 wol 3, 549I 0 3, 549 0 ol




(Bt 4)

[BEBEEFZRE ]
SHI2ZE 289 AEng&L]
(HEHr - 1)
SHILE EAE GRmE (FEEORR)
#AB |®mm RGHHEAE - I BHEnR
A3 {fisk AR HHE % 4 M
faldd (%) mEsnR | wR | aMk | menes | ZOEN | wnenw | keaax | smer | ossr | oasr
R2.2.26] 21 |HiRAFE (AAEFFH2R ) 4,900 ml 4,900 0 0 0 0 0 0 4,900 0 0 q
aE—WATHF—TURF— (18 |
R2.2.26] 22 2,860 50 1,430 0 0 0 0 0 0 0 0 1,430 o
e B ) BRURSHE
Re.2.27| 23 |EERssELE 1,240,727 70| 874,808 0 0 o| 874, sog 0 0 0 0 0 ol
i
BB AR (SRTFIZRUE~H |
1.518] o] 759 0 0 0 0 0 0 0 759 0 0
re228f 20 | e |
Al o| 1,730,761 1, 113, 429] 375 0 o| 930 083 0 ol 10.33 5,226 25,458 141,950
RH of 6. 148,064 3,402, 132 5, 366 0 o| 1,600,395 0 of 133.324] 26.661) 455,007 1.180.400




(FfthR= 4)

= B & ¥

_ CEEETETG)
SH2E 3 Ay [AEN453&L]
(B4 [
SR BHE BREE (RLEOHR)
#RE |wEm RN - ik mAEL | s el
BE (%) mamnx | mex | sww | cemwx [ EASW | wpeen | oesmak | smEr | oser | Ase
Re.2.6| 1 |RBERHBBEZEHE (2/10~3/12) 1,500 50| 750 0 0 0 0 0 0 0 0 0 750'
R222 2 (BHSEBREIREER (2/22~3/28) 1,600 5o| 800 0 0 0 0 0 0 0 0 0 aool
Re.2.27 3 |EBEWWBBARER (2/27~3/17) 1,600 5o| soo) 0 0 0 0 0 0 0 0 0 aool
R2.3.2[ 4 [|#EHEEE QRS 2,601 25 674 0 0 0 0 0 0 0 0 674 0
R2.3.4| 5 [HE&BU—AK BAM 22,572 sol 11, 286 0 0 0 0 0 0 0 o| 11,286 0
R23EL 6 |hT e iRy A VR 116, 550 5] 55, 275 0 0 o| 55215 0 0 0 0 0 0
R231A0L 7 | v&—ky MiEEH 1.108] 5o} 551 0 0 0 0 0 0 0 0 551 0
Re.3.10] 8 [|HEFERENR QA 8,658 25 2,164 0 0 0 0 0 0 0 0 2,164 oi
EER EBRML (SN24E2R48~5H12
R2.3.12| 9 4,09 50 2, 4% 0 0 0 0 0 0 0 499
- #3A28) | 2,48 0 ol
R2.3.23| 10 |FHFHE TIFRIL YRR GAN 9,728| 50 4, es4i 0 0 0 0 0 0 0 0 4,364 nl
R2.3.24 11 |¥FBAFE (HPHM3AN) 3,540 100 3, s 0 0 0 0 0 0 3,549 0 0 o‘
R.3.25) 12 |¥ERAM (REBAFRA3A ) 1,887 100 1.887 0 0 0 0 0 0 1,887 0 0 0
R2.3.25| 13 |HARA (BREFHEIAD) 4,900 100 4, gool 0 0 0 0 0 0 4,900 0 0 0
JE—WATF—T U RF¥—T (2R |
RL325| 14 (R e 2,860 50 1.430 0 0 0 0 0 0 0 0 1,430 0
i PadiBER (RHTDHMRBREARTV
R.325 15 [y U A 43 A ) 19.806] 25 4,951 0 0 0 0 0 0 0 0 4,951 0
R2.3.25] 16 |HMBEHRHBBEALE (B5ER) 190,000 50] 95,000 0 0 0 0 0 0 0 0 0| 95,000
-
Ro.3.26] 17 |ERESAEHABIMAALRR (FHE1. 000F) 87,000 50| 43 5ﬂ0| 0 0 0 0 0 0 0 0 0] 43,500
§ §TRER) l
R2.3.31 18 |EBPUKER (FM2FIRI8E~TH2E 3,557 so| 1,778 0 0 0 0 0 0 0 1,778 0 0
1 38128) : |
Ak o| 478567 235, 658' 0 0 of 55215 0 of 10,33 42171 25,9200 140, aso|
R 0] 6,626,631 3,638, 790| 5, 355 0 o] 1.655.670 0 o| 143,660 30,038 481,917 1.321.250|




(HfthRt 4)

= & & K
SHTEE Af : EEEEELE 1))
' fdEniod L]
(B - F)
HRE RorE ERAE (RADAER)
2RE |wEm Ristme - 8 AR i EHzMR .
L (%) wEERR | wER ziin | mREER | AR | gaemm | REMAR | sEER [ se AR

R1.8.20] - |&R&LYAE 6AH 164, 258 0 0 0 0 0 0 0 0 0 0 0
RLO.I0| - |&REYAR TAS 228, 606} 0 0 0 0 0 0 0 0 0 0 0
R.10.31] - |&REYAZ 8H% 234,719 ' 0 0 0 0 0 0 0 0 0 0 0
R2.11.19} - |&Rk&UYAE 98S 222,716 0 0 "0 .0 0 0 0 0 0 0 0
M33.1.11| - |&RkEZYAE 1WAR 237,915 0 0 0 0 0 0 0 ¢ 0 0 Oi \
R2.1.10| - |&RIYAE 1AR 225, 075 0 0 0 0 0 0 0 0 0 0 0|
. R2.2.10| - |&R&EYAE 12845 237.092 i} | 0 0 0 0 0 0 1] 0 0 0|
R.3.18 - |&m&kyAR 1A% 738,322 0 0 0 0 0 0 0 0 0 0 o|
R2.3.30| - |&RkEYAE 2% 1, 113, 429 0 0 0 0 0 AO 0 0 0 0 Ol
R2.4.20| - |&RLYAZE 387 236, 658 0 0 0 0 0 ) 0 0 ¢ 0 .0 0
0 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0 0

0 0 1] 0 0 0 ] 0 0 0 0

0 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 ol = o 0 0

At 3, 638, 790 0 0 0 0 0 0 0 0 0 0 0 0
®It 3. 638, 79016, 626, 631 3,638, 790 5, 355 0|1, 655, 670 0| 143,660 20,938{ 481, 917|1, 321,250




